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1 SMIEEFHEMTRRA ($H4£3A31BRE)
(1) —me=st
(HEh-JAH)
% A % H
B B FEBRLE A|UAFEEE B)| B)/(A) (%) |HERLLE (%) ® = FEIRLE (O)|XZHFEE (D)| (D)/(C) (%) | #ERLEE (%)
1 ™ 5] 5,955 5997 100.7 275 (| 1 & = & 200 195 97.5 0.9
2 i H E 5 207 205 99.0 09| 2 #& % & 2,274 1,609 70.8 7.8
3 M F A X M &£ 4 3 75.0 00| 3 R & & 7,743 6,974 90.1 33.8
4 B OB B X F £ 20 29 145.0 01| 4 #& = & 2,530 2,006 79.3 9.7
5 HBAFREMBIXRMGE 9 35 388.9 02||5 BEMKE X & 1,204 1,097 91.1 5.3
6 EABTEBRIMTE 86 98 114.0 04|l 6 ™A T & 339 302 89.1 15
THAHEHEBRIMTE 950 1,007 106.0 46 || 7 £ PN -y 2,472 1,292 52.3 6.2
8 JIJEMAHRRME 5 7 140.0 00| 8 :H 3] 7 828 749 90.5 36
9 B I M B XM 21 16 76.2 01| 9 % ] & 3,756 3,100 82.5 15.0
10H# 5 % 6 X F € 101 102 101.0 05|10 K & & B & 2 2 100.0 0.0
"m# A X {F 4,088 4,129 101.0 189 (|11 & i & 2,163 2,161 99.9 105
12 RBREXEKFANRTE 3 3 100.0 00[|12 38 X H £ 1,177 1,172 99.6 5.7
BHRaEesrvalEE 26 23 88.5 01|13 % fis & 27 0 0.0 0.0
14 #F ARV F HH 422 377 89.3 1.7
BE E X #H =% 5,338 4773 89.4 21.9
16 & 53 H & 1,865 962 51.6 4.4
17 Bf E IR A 61 56 91.8 0.3
18 & Ff & 150 104 69.3 05
19 # A & 168 164 97.6 0.8
20 #% i & 1,473 1,473 100.0 6.7
21 & I A 598 576 96.3 26
22 & 3,165 1,702 53.8 7.8
m A & & 24715 21,841 88.4 100.0 m H & F 24715 20,659 83.6 100.0

% BHFEST)




(2) THDRARSR

(3) Al=Ft

(Bfr-BaBm[) (Bfi-BBA)
# H FHIRLE IRAEEE | R %) 2 & & |FHEZE E|WRAFZZE P(XZLEEE (G) F/E) @ | (G)/E) %)
T RO 2,490 2,505 418 ERERERIRSEE 4,472 4,249 4,157 95.0 93.0
2 B EEE M 2,819 2,822 471 K B & R 8 4 4 50.0 50.0
S EB ® EM 140 141 2.3 TERKRER 4,311 4,185 3,909 97.1 90.7
I T = G 332 353 5.9 BHYEEhEER 578 569 506 98.4 875
5 A & B 10 11 0.2 =) &t 9,369 9,007 8,576 96.1 91.5
6 # T F ® f 165 165 2.7 x BHFESD)
a & (1~6) 5,956 5,997 100.0
REmRKEH 817 864 100.0




(4) DELRIFE

THIFEEDRE (Fid) KR (B EAM) THIFEEDEER R (Ef-EHA)
E 4 roawg | | mmwe | TNR| E % rawg | L B mmwe | TR
E OF I # 1,136 146 2,840 88 4,210 E OEXE N O# 1,034 132 2,825 80 4,071
Wle 2 s oag 2 218 10 1,396 376 2,000 Wle = o an 2 120 11 1,385 367 1,883
A E B F &® 0 0 5 0 5 |ig |2 OB M & 0 0 5 0 5
" £t 1,354 156 4,241 464 6,215 Gy 1,154 143 4,215 447 5,959
2 X & A 955 168 3,521 477 5,121 & 2 X & H 916 159 3,442 469 4,986
H1X e 2 5 5 A 52 9 64 54 79| |5t |E |2 £ 4 &8 A 52 7 146 54 259
TG-S 0 0 0 0 of |w|mE B 8/ % 0 0 0 0 0
g 1,007 177 3,585 531 5,300 - it B 968 166 3,588 523 5,245
i E 3 & 1,849 0 113 120 2082 |7
E-RB@HEBBE 0 0 117 55 172 LEAMFIZE (A)—(B) 186 A 23 627 A 76 714
b EaEHEE 4 0 0 6 10
7 —REHES 7 0 0 182 189 =B B B E 11,405 669 5,970 8,863 26,907
Al SRS 0 0 0 0 0 é w B &' E 1,045 265 1,542 129 2,981
2 O b 0 0 16 0 16| | g?sff;: Z # = 0 0 0 0 0
¥ &t 1,860 0 246 363 2469 |4z 5 12,450 934 7,512 8,992 29,888
BHURE 3,641 15 127 181 3,964 B E & & 6,208 275 3,528 2,920 12,931
T EXEREESR 354 27 224 233 838 A %ﬁe o8B A & 477 33 524 246 1,280
bl |[THEARES 0 0 0 0 of |® R E W @ 1316 149 1,754 4,919 8,138
z D ftt 0 0 17 0 17 |R|&x|&E x & 3471 480 3,027 754 7,732
H é.'% 32 2 978 A3l A 1321 153 A 193
) 3,995 42 368 414 4,819 H 12,450 934 7,512 8,992 29,888




DHIBEEDOFHEBMITRR

(BEf-BahmH)

X % roawg | | mmwe | TXR|
FHEBREE © 1,301 155 4,062 468 5,986
1R = HoE E D 1,354 156 4,241 464 6,215
A ITER(D)/(C) (%) 104.1 100.6 104.4 99.1 103.8
= FPEHEHE ©® 1,095 197 3,658 544 5,494
:9] * XHFE P 1,007 177 3,585 531 5,300
§ BATEF)/(E) %) 92.0 89.8 98.0 97.6 96.5
FERE @ 3,545 0 255 356 4,156
& = hOE E K 3,473 0 246 356 4,075
A BAITERMH)/(G) %) 98.0 0.0 96.5 100.0 98.1
* FEHEE () 4,025 42 378 413 4,858
;9] * XHEHE ) 3,995 42 368 407 4,812
§ BATEW)/D ) 99.2 100.0 97.4 98.5 99.1




